X W ¥ o 4 N 7 K £ m M R
Wik H: 2006411 HOSH RIE N
& B RAH LY —257 6,105 Yard Par 72

Ffi BRSO 7 A

[ a2 ni]

g iz - LEX KD &R
B AR R 397
EEBE s 405

3 HERF o 407
v A HERB 410
543 %] 411
6L BEAR ‘ 414
7L FHE 418
8{i TH 419
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1041 FHE 378.2
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124 - HX 379.2
1341 HE 381

1443 =iRR 381.8
1543 TF 390.2
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TOTAL | §E{& | TOTAL| NET TOTAL | JEfL | TOTAL| NET
ARsEIER KHJFEB
397 1 410 4 1369.2| 2
E & OUT! IN |TOTAL|HDCP| NET K 4 OUT | IN {TOTAL |[HDCP| NET
iR R 2 40 { 37 77 *| 48 (722 om0 30 | 39 78 *| 1.2 |768*
w X F 40 | 37 77 *| 80 [710 ® B F 40 | 40 80 *| 7.2 |728*
I8 i - 39 | 40 79 *| 72 |718 s B E = 39 | 42 81 *| 72 |738*
M @B ® = 38 | 43 81 *| 48 |76.2 " % ¥ F 41 | 43 84 *{ 12.0 |72.0*
A R R 44 | 39 83 *| 84 |746 W B OE * 43 | 44 87 *! 132 |738*
2 # ] 36 | 48 84 | 7.2 {768 ¥ O B + H 42 1 46 88 | 96 |784
TOTAL | FEfZ | TOTAL| NET TOTAL | MB{L | TOTAL| NET
i A
405 2 411 5 3722, 3
K 4 QUT | IN |TOTAL|HDGP| NET K 4 OUT | IN |TOTAL|HDCP| NET
ol B 36 137 | 73% 12 |78 ETT 37 139 | 76*| 24 |736*
# ®H B — 41 | 40 81 *| 60 |750 & 2 gh 41 | 37 78 *| 7.2 |708*
15 & 41 | 42 83 *| 72 |758 B OH — 0 44 | 41 85 *| 96 [754*
wWOKE B — 39 | 44 83 *| 96 |734 X #H © B 41 | 44 85 *| 84 1766*
B M = X 44 | 41 | 85%*| 60 |790 R_B — W |42 | 45| 87*| 84 |786
g & & 47 | 43 | 90 |132]768 BB @ R 14 | 43 | 89 | 132 (758"
TOTAL | IE{ |TOTAL| NET TOTAL | JE{E | TOTAL| NET
k5 ' ‘AR
407 3 414 6 13684! 1
E & OUT | IN |TOTAL|HDCP| NET E 4% OUT| IN |TOTAL|HDCP| NET
2 B X 17 37 | 30 | 76*| 24 (7386 Wooog o oY | 36 | 41 77 *| 60 |710*
n_ = & = 38 | 41 | 79%*| 36 {754 5 B ¥ X 39 | 40 | 79*| 48 |742*
# 5 ) 40 | 42 82 *| 7.2 {748 Ll & * 42 | 43 85 *| 120 {730*
® R B - 44 | 40 | 84 *| 96 |744 L I T 43 | 43 | 86 *| 108 |752*
AN B2 38 | 48 86 *| 72 |788 1B * 13 39 | 48 87 *| 120 |750*
E & £ = 45 | 44 80 | 108 [78.2 N K BB 48 | 46 94 | 18.0 |76.0
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TOTAL | JE{iZ | TOTAL | NET TOTAL | WE{Z | TOTAL| NET

FHE WA
418 7 (3782 10 425 10 (3784 i1
K 4 oUT| IN |TOTAL|HDGP| NET E 4 OUT | IN TOTAL|HDCP| NET
X E # B 37 | 41 78 *| 6.0 (720* x B B 40 | 40 80 *| 7.2 |728*
A OB oM x 42 | 40 | 82*| 48 [772* | B H 7 41 | 43 | 84 *| 60 [780
X B E M 44 | M 85 *| 84 !766* i KX B 3 38 | 48 86 *| 84 {776*
g B =n = 45 | 41 86 *| 96 [764* H n % 85 45 | 42 87 *| 108 |76.2*
F H O# & 44 | 43 87 *! 80 [81.0 W EH fh 1T 45 | 43 88 *| 13.2 [74.8*
B # @ % 45 | 43 88 | 12.0 |760* B o\ M X 38 | 50 89 [ 120 |770%
TOTAL | IE{Z | TOTAL| NET TOTAL | IRz | TOTAL | NET

T& XHERA
419 8 (3778 6 428 | 11 (3770 4
K % OUT | IN |TOTAL |[HDCP| NET E 4 OUT | IN |TOTAL HDCP{ NET
B EE A X 39 | 40 79 *| 1.2 j71.8* #® O OB x 40 | 41 81 *| 72 {738*
W OB OE A 38 | 42 80 *| 7.2 172.8* & 0O ¥ X 41 | 42 83 *| 84 |748%
= B #® # 42 | 41 83 *| 7.2 {758* ® F € K 42 | 44 86 *| 96 |764*
. B & 43 | 45 88 *i 132 |748* I M OB B 45 | 42 87 *| 108 |76.2*
% 17 HE 43 | 46 89 *| 9.6 |794 X B n B 44 | 47 91 *| 132|778
B @ & 45 | 52 97 |204 |766* E B £ B8 46 | 48 94 | 180 |76.0*
TOTAL | ME{& | TOTAL| NET TOTAL | JE{Z ! TOTAL| NET

ER EHi
421 9 13778, 7 428 | 12 13776 5
K & OUT | IN !TOTAL|HDCP| NET K £ OUT | IN |TOTAL |HDCP| NET
B2 R A =% 42 | 40 82 *! 60 |760* X A B/ & B8 42 | 40 82 *| 7.2 |748*
#w_ H 8 a1 | 42 | 83* 72 |758%| (F R IE B 41 | 42 | 83 *| 84 |746™
& B E & 38 | 46 84 *| 96 |744* £ B # = 42 | 43 85 *| 9.6 |754*
' A H £ — 40 | 45 85 *| 9.6 [754* BT R B 45 | 43 88 *| 108 |772*
w B B -~ 47 | 40 87 *! 10.8 |76.2* R B & 2 45 | 45 90 *! 144 |756*
® 7 L] 46 | 47 93 1120 (810 - T 0 B 48 | 49 97 | 156|814
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WREEH L 20165511 808 B R
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TOTAL | #E{: | TOTAL| NET TOTAL | IEfT | TOTAL| NET
=R ERZERIL
i 431 13 [381.8| 14 439 | 16 (3778| 8
K £ OUT | IN |TOTAL |HDCP| NET K # OUT | IN |TOTAL|HDCP| NET
R B F & 4 | 42 83 *| 60 |770* £ A £ T 38 | 42 80 *| 36 |764*
i # % 42 | 43 85 *| 7.2 |771.8* ] bS¥ & 45 | 42 87 *| 12.0 [750*
X H # =z 41 | 45 868 *| 9.6 |764* B H M % 44 | 44 88 *| 144 |738*
i K B % 40 | 47 87 *| 108 |76.2* iz a f& 44 | 48 90 *| 13.2 |76.8*
F N E % 45 | 45 90 *| 15.6 |744* 15 i} e 45 | 49 94 *| 18.0 |76.0*
X B £ = 48 | 45 | 93 | 120810
TOTAL | JESEZ | TOTAL| NET TOTAL | JEfZ | TOTAL| NET
B3 FHE
432 14 1379.2 12 443 | 17 (381.0| 13
K 4 OUT | IN |TOTAL|[HDCP| NET K 4 OUT | IN |TOTAL|HDCP| NET
B X # 81 40 | 39 79 *| 1.2 {71.8* g ON B % 43 | 40 83 *| 84 [748*
g B F # 43 | 43 86 *| 10.8 [75.2* & m = 42 | 42 84 *| 13.2 |708*
ho# X B8 45 | 43 | 88 *| 156 |724*| |H# # f 43 | 41 | 84*| 120 (720*
18 H & 45 | 44 89 *| 132 |758* K B - =% 46 | 48 94 *| 108 {83.2*
F R % & 43 | 47 90 *| 12.0 178.0* A B S 45 | 53 98 *| 13.2 |84.8
& V7l <A 49 | 47 98 | 12.0 |84.0 Hh ¥ H A 47 | 55 | 102 | 21.6 |804F
TOTAL | JE{ | TOTAL | NET TOTAL | ME{L | TOTAL | NET
AR I TH
435 15 (3782 9 461 18 [390.2| 15
K & OUT | IN |TOTAL|HDCP| NET E % OUT | IN |TOTAL|HDCP| NET
B OB B % 45 | 39 84 *| 84 |756* A it = 42 | 43 85 *| 96 |754*
HH# # 11 39 | 46 | 85* 72 |718 t# B IE 3h 45 | 40 | 85 *| 60 |790*
8 K B £ 45 | 41 86 *! 96 [764*| | F & B 44 | 45 89 *| 132 |758*
A ZF N = 41 | 47 88 *1 10.8 |77.2* B ¥ = 53 | 46 99 *| 21.6 |774*
H  E = 48 | 44 92 *| 18.0 |74.0* X H & = 55 | 48 | 103 *| 204 i826*
i A H# - 43 | 50 93 | 18.0 |75.0% r B X {E 46 | 57 | 103 | 19.2 |838




